
Model and sample answers for Writing
tasks

TEST I, WRITING TASK I

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.

--

Thetablegivesabreakdownofthedifferenttypesoffamilywhowerelivingin.:',
poverty in Australia in 1999. :

On average, 11o/o olall households, comprising almost two million people, were in f
this position. However, those consisting of only one parent or a single ndult had , ;

almost double this proportion of poor people, with 217o and 19% respectively. ,,

Couples generally tended to be better off, with lower poverty levels for couples
without children (7%)than those'with children (12%), lt is n6fc-e*lsfut{or$tf4 i. . '

lypes of household with children; a higher than average proportion were living in 
r:

poverty at this time. ::

Older people were generally less likely to be poor, though once again the tr€nd
favoured elderly couples (only 47o) rather than single elderly people (6%). : ', 

I
Overall the table suggests that households of single adults and those with children
were more likely to be living in poler.ty than theso consisting of couples. " ' 't'1"' 

.
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Model and sample answersfor Writing tasks

TEST I, WRITING TASK 2

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 4 score. Here is the examiner's
comment:

This answer describes some relevant advantages and disadvantages of books, TV and films,
although these arp sometimes unclear or not zufficiently developed. The script loses marks, however,

because it doesn't ansrrer the question about'which medium is most effective'and also because it is
uoder the minimum length (only 230 words).

The writer has tried to organise ideas and uses paragraphing to structure the response. However,

the message is confused at times and the answer is incomplete. Some ideas are linked appropriately,
but there is a lot of repetition acros$ s€ntence$

The writer uses a limited range of language quite repetitively and there are only simple seotence*
However, these are often quite accuratg although there ar€ many oramples of basic errors in
grammar and punctuation.

fn ocrr o\ai($ l:,{e, ute alwags conrvrunrcate informaton through
tte rnedia, s{^ch as televis'on, ro.Ar.., f,lrn, 1-tcse rnedia have-
different advar*aqas and o\isadvar*aqes for us. Now, r an

flp"* T5ii,_fu 
advantages and"disadvantqgas of booKs,

BooKs brinq us d,fferent Kr.-tedqe. ft bases on what SooK

we reaA,. A"fanor..s chu€se trad,tJna( verse whrch o\escribed
booKs rs a treas,.re. l;Je can f,nd a qo(den house rn tt'e,ra.
Moraover, wlnen rr.re .^.,ant to red. t,",^re can find * aasilS, such
as booKsiore, l',braq. tr,ts. can atso [earn a bt of urords frorn
booKs. A^d ',+ can ir^Drove our readrnq and ,^lr,tnq s.[(i[ts.

Hd-ilevzr, booKs alr.^rags are rrot atYract.re for"ch,b\ren or
qor,^nqster.-If is beca,rse booKs are q/u:te borinq. A lot of uiords
i*\-ln.= pictures insrde +fne booKs, cJrnpare *o labvison, tebvisron
has pictules and sound, tr)e don't have fo reac^ a tot of ,,-ords
in te[ev,son. But sorv\e arfrst ,n tebVrsion proqra$rv\e or f,hn,
brinq a bad 'rnnaqe to us. Tte,n sorne ch,ldrerl" or qoL^nqers wiit
,r6*;+e tteir beh"av'rotrr. So1Ae f,hn ako brrnq a ,r,iono" rnassaqe to
us. For exarv\Db. tteq are a(waqs srnoKrnq 'il fit*=. fn seerns"
+r^"+ .nn"r,^g 'i='good- and sor,ati rt ca""seo\ rr\ang SoL\lgers
irnitate ttnern srnoKinq.

In conclus'ron, bo&ds, televrson and fitrn have r^ang advantqgas
anol disapUanfaqas. I cannot u.rr',te a(t in tere. Ard, u^.re have
choose tle, rnef,a carefullg.
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Model and sample answersfor Writing taslcs

TEST 2, WRITING TASK I

SAMPLEANSWER

This is an answer written by a candidate who achieved a Band 6 score. Here is the examiner's
comment:

This ansrrer focuses too closely on the details in the graph but fails to compare trends or general
differences between figures for winter and summer. Some comparisons are made, but these are
about details' and it is difficult to get a clear idea of the information from this description.

Similarly, information in the pie chart is simply listed using the language from tle chart and there
is no atlempt to rclat€ rhis to information in the graph.

The desoription is not well organised, although a range of linkers are used, and the usc of
paragraphs does not reflect tie diferent sections of information covered.

Thcre is a suitable range of vocabulary for this task, although some words are misusd and therc
are several spelling errors The range and con8ol of grammatical structur€s is the strong point of
the main part of this response. There are examples of complex structures that arc used with
aocuracy and some flexibility.

Tlv. us- of electncrtg in Ltlar:d is rlisTene.d with. Den'and for electricrt6 n E-rylad
Atitltgfrcd \s n unrrter atd 5um,v€r is rllustrate/ intfu- g# The use of elecVcit6 in

o: *rry L\ish hone is sho^n in tlx- 7te clurt. From fu {ofr,h ic 
6.nerall5 

obaarc

tfnt the dctat'l is rn rts nraxrnrm arafid aoo , wl in itc rwrni'rum arand 
-ooO 

, iry-:rX

alnost corrctar* betrore.en BOO and a|OO in winter tirrcs. DurrrvX ernrrcy tirrn.s, ort th"
otlwr twl, tlv. drln,^nn reaelus its top ?o{rt Nafu t3OO, ail *v. botion porrt arard

?OO, bug almost constarrl' bet^rzn lSbO and AOOO
ln Winter tines, tlp c^^w. yaAnll| irvreares to ruch +O,OOO *nt" of ebctriert6

hd 3 o'clock rn the rnorrlrvX lhl ic follod \ fodd &rlltv. to its lonect lmte of
3O,OOO qnits at 1 o'clock. h mAd hs- is MAotr aytn to rerch a ctati,crw6 brcl
allrr,r'n 3 o'clock and g o'clockoof abart .IOOOO *i" oEn lilvn,Ilcre rs a *w7
ri*. in tlre rcrt !wi- to rech its nraxrnrm blore eollaTsitlfinro a lo^er lercl b6 the

eil ol the dq'
ln snrvrcr the, the ct*ve yaaAl1 deseos-io reaeh tts loner lm* ararnd g o'clock of

a bft r,we than lO,O@ unrts. A yaA.d ircreaa- is twlierl to reach rts toP of aO,OOO
afler ,ntrreh a stati,orwX y'vx- is owia^o betralean B o'cloek and to o'clock at n{rt of
abart ISOOO un*es.

Tlu. yie clvrt, u'r t|:z otlvr lw:y', 4w^ts tM Sa5t; of the electrrcit6 is ue-d lor
lv.*t1roorc ard waIer. t7.5% is eonenv-d lt o"etw, kettles and u.nstwv* nschrcs, E%
is us-d in lr{rtrn7 TV and raAro, wl finalt6 tSZ is cotsrel n flr- s* of nac*,rn

ebrvrs, food ruttures and electrrc tools.
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Model and sample answers for Wriling tasks

TEST 2, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example ol a very good answer. However, please

note that this is just one example out of many possible approaches.

Happiness is very difficult to define, because it means so many ditferent things to
diflerent people. While some people link happiness to wealth and material success,
others think it lies in emotions and loving personal relationships. Yet others think that
spiritual paths, rather than either the material world or relationships with people, are
the only way to true happiness.

Because people interpret happiness for themselves in so many different ways, it is
difficult to give any definition that is true for everyone. However, if there are ditlerent
kinds of happiness for diflerent individuals then the first step in achieving it would be
to have a degrse of self-knowledge. A person needs to know who he or she is before
being able to know what it is that makes him or her happy.

Of courss, faclors such as loving relationships, good health, the skills to earn a living
and a peaceful environment allcontribute to our happiness too. But this does not
mean that people without these conditions cannot be happy.

Overall, I think an ability to keep clear perspectives in life is a more essential factor in
achieving happiness. By that I mean an ability to have a clear sense of what is
important in our lives (the welfare of our families, the quality of our relationships,
making other people happy, etc.) and what is not (a problem at work, getting
annoyed about trivial things, etc.).

Like seltawaroness, this is also very difficult to achieve, but I think these are the two
factors that may be the most important for achieving happiness.
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Model and sample answers for Writing tasks

TEST 3, WRITING TASK I

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.

The chart gives information aboutrpo$lischool qualifications in"tertpg.-.t 4edlfbrent
levels of further education reachedby men and women in Australia ln 1999.
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Model and sample answersfor Wriling tasks

TEST 3, WRITING TASK 2

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 7 score. Hlre is the examiner's
comment:

This answer considers the main issues raised by the question and presents a definite opinion about
the statement. However, the response tends to over-generalise and sometimes the examples used to
support ideas seem rather confusing. Ideas are generally clearly organised, and paragraphing is

clear but the argument is difficult to follo'w in places. A range of linking words and expressions is
used, but there are occasional mistakes The candidate uses an ambitious range of vocabulary and
sentence patterns, but has some problems with word choice and collocations. There are very few
spelling errors and only minor grammar mistakes, but there are many examples of expressions used

inappropriately.

t uer?€ u.tith th€ St4ter\e^h th4t thefe ShArd bC nO go/Crnuent f€stfiCtion O^

cfe4tive 4ftists utho O<gr€ss tlxAnS€uVCS in th€ ,^ray thdy dO a.r,rd th&t thCy rnust
bC Xv€lr ffeddOr^ Of th€ s4*re Cx1fessiOn hAs 4uways bden th€ k€.ynot€ in 4
f€fst}rl Lil€' lt '6 thC flsr)ut Of nr€tr9 OftlssiO^ Ot A)( th0.)ehts thAt r^€ 4fe
a.bLc to caftllt,iricAtc. Rcstftctions o^ how urc res€nt ar thruehts is scnscLess.

Cf€4tive 4rtists Pt a wraloc rDL€ i^ or socicty, b€ 'rt thc Solcrnwren! a-d

w, thc yNth of th€ ch'rr-dfE r. fl€if rlofis arLixhtcn a)f *rindS, no f,\4ttef i{ is
taLtrJoL or €nt€rtainn€nrt b4scd tt is di:3cfvi^e th4t 4ftef a dAys r^Jofi( uJh€^ 'r€
u,orlt to t4*c sfi^c tin€ off tof oufs€r-v€s, r^rc l-@N( out f,of soi^e Lcigre. Fof
instAnc,e: glthef fd4sO,''t nrUSig Or 4 f4ry\iLy m6/r€ trhiCj.r SOOthCs th€ nrinrd

tr*cft4iTu\c't xuc r.ls 4rr o/€rvrdo 6 o. r€.D sidc of Lil€ uhich €r/€fy irdMd)4u
retcc,ts fhcr€ is aunost 6/e.yth'nX Aood ln urhat is 

Xiven to us thfNSh thc
nddia u,on-d uh'rch iS nr4d€ U? Of 4ftistS

O^ th€ cfitfafy Son€tinr€S thCse 4ftists tad to be t}tscntr-a)S fhcy
co^/eft f\rr^our:s 'vrto fLc.ts arnd res€nt thcn bctofe us fhis n[ht inj4ir thc
f€flJtetiqr of son€ rr!)stfia)s fcoft! ln todayl society. on st)ci occo.sions,
@ft4'tn festfietions afE tJnd€fstandatr-€, lJ6/€ftB€sr3 r^rc 4u- do houJ uhAt is
fiaht or,^rfone. R,u-es and reSuuotions rot 4t-t^.eys 4f€ th€ sor-ution to ha^J

4ftiStS thdif o^nr 'rdC4-t llenc€ it is dq-tish tO b€ irr?€ttJA,,s 4nd th€

xo/€nvrent shorrd a{oe4.4t-tefh4t'rvc w47s to co^troL th€ nr€di4.

R,esfcet fof oncs'ide4s is not m-y hy?othctic,4L h)t rnrrst b€ rac.tis€d tt is
thfot,lh f€S?Cc,t that e4ctr w. at us car\ bC fecoenis€d 4S 4 u^i?u€ in th€
rlofi-d fhis c.an b€ a{.hi6/€d b/ Loor(ine 4t th€ bfixht sid€ of u,lat *\cdi4 i.e thc
cf@tivc 4ftists dis?L4y fof us 

^Jot 
4 ey @n Ao 

b./ 
'^rhdn 

r^rc do^t Look art fol.
cor-ouffrr- df€4*\s or1d e b€Autiftr- Litc uJhicj vE 4^ tird cithcf thfwxh w\rJsic,

f€trt fil-us, gich)f€sj alCrythiq th4t thd cf€4tive a.{tists otfcf us

t6'7



M&l od wnple answers for Writing tasks

TEST 4, WRITING TASK I

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5 score. Here is the examiner's
comment:

The response is underJength (138 words). The candidate reports the key information in the first
graph i.e that visits to and from the UK increased and that the increase in visits from the UK was
more marked than that of visits to the country. In thc bar chart the information is also reported
accurately. Howeve4 the references to &dollar are confusing, suggesting that the candidate has not
fully understood the information given, and there is little attempt to relate the two diagrams or to
make comparisons across the information given.

There is a brief introduction to the topic, with an att€mpt to paraphrasc the rubric; the overall
structur€ of the writing is clear, with some use of basic discourse markers There is very little usc of
referencg however, resulting in a considerable amount of repetition of key vocabulary.

There is a fairly narrow range of sentence types and errors occur in verb formation aud in the use

of tenses

The g'"phs reveol on inforrnotion obout overseos residents tcovel t UK

"nd 
UK cesiderrts trovel to other countries, ond where thel visited rnoce.

According to the chocb of visits to ond fcor UK, UK resider,ts hod

visited obrood rrpre thon overseos cesiderrts visited UK. UK cesidcrrts

trove\ were ir€reosed 
"ti$t\ 

till 11t6, ofter tl''ot, therc u,os o dromotic

cise frorn &dolhc;Z0 milions to &dotlor;Stl rnillions til t111. ln contcost,

ovq-seos residents wece incceosed gcoduol\ in trovelirg to UK fror.,

&dolhc;lO rqillion to &dolbr;Zt rnillions between 1171 ond 1111.

From the infocrqotion shourr, we con see thot Fro*. uns the mos:b

popuhr'cothtrl visited \ UK residents, occotrnting foc &dolbr;ll rnillions. And

the others countcies visited q UK resi&nts were Ttrke1, Geece ond

USA, wh'ah were &dollor;3, &dolloc;{ ond &dollor;S millions.
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Model and sample answers for lilriting tasks

TEST 4, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.

Poor student behaviour seems to be an increasingly widespread problem and I think
that modern lifestyles'are probably responsible for this.

ln many eountries, the birth rate is decreasing so that families are smaller with fewer
chiHrgn,These children are often spoilt, not in terms of love and attention because
working parents do not have the time for this, but in more material ways. They are
allowed to have whatever they want, regardless of price, and to behave as they
please. This means that the children grow up without consideration for others and
withou! an under$tanding of where their standard of living comes trom.

When they get to school age they have not learnt any self control or discipline. They
have less:respect frcr their teachers and refuse to obey school rules in the way that
lheir parqnts did.

Teacherg continually complain about this problem and measures should be taken to
combat the situation. But I think the solution to the problem lies with the families, who
need to be more aware of the future consequences of spoiling their children. lf they
could raise them to be considerate of others and to be social, responsible
individuals, the'whole community would benefit.

Pertraps parenting classes are needed to help them to do this, and high quality
nursery schools could be established that would support families more in terms of
raising the nefi generation. The government should lund this kind of parental
support, because lhis is no longer a problem lor individual families, but for society as
a whole.
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